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QUESTION 1

An architect needs an agnostic provider of persistent storage for their OpenShift Container Platform, that supports file,
block, and object storage, either in-house or in hybrid clouds, Which provider should the architect choose? 

A. HostPath Storage 

B. Red Hat OpenShift Container Storage 

C. FlexVolume Drives 

D. OpenStack Cinder 

Correct Answer: A 

 

QUESTION 2

What is the correct order of dependencies in the DataPower Gateway services point of view as they are nested into
each other? 

Select and Place: 

Correct Answer:  
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QUESTION 3

An organization is looking into enabling multiple instances of Cloud Pak for Integration - Operations Dashboard in a
single Cloud Pak for Integration cluster. What statement below is true? 

A. The namespace/project must be partitioned before enabling additional instances 

B. Only one instance can be enabled per namespace/project 

C. Multiple instances can be enabled on the same namespace/project 

D. Only one instance can be enabled per cluster 

Correct Answer: C 

 

QUESTION 4

Which of the following maximizes durability by replicating message data into three availability zones, making Event
Streams resilient to infrastructure failures? 

A. Geo-datasync 

B. Triplewrite logging 

C. PersistentVolumes 

D. Multi-zone architecture 

Correct Answer: D 
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QUESTION 5

What is the IBM App Connect Enterprise Toolkit? 

A. A high availability management tool 

B. A command-line interface for App Connect integration 

C. A web user interface for accessing integration server resources 

D. A graphical user interface for message flow development 

Correct Answer: A 
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